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Question Number : 1 Question Id : 872834907 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Among the following, a pair of numbers which are not co-primes is

PRV AU VR G ST I LI UG98 O
Options :
% 20,21
2 W ?-. L)
5 v 35,80
4 % 42,95

Question Number : 2 Question Id : 872834908 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
7
The decimal expansion of = A

Tl ¢ i.'-'f'll/ ‘
—rRlTeS - 30
Options :

1% 0.0375
> # 0.875
3 % 0.375

4.« 0.0875

Question Number : 3 Question Id : 872834909 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0



Correct Marks : 1 Wrong Marks : 0

If A= {1,2,3,4,5)}and B ={3,4,5,6,7) thenthe set A — (A —B) is
¢vA—(A—B) B =1(3,4,5,6,7}» A= {1,2,3,4,5.)

Options :

o (1,2,3,4,567)
, v {3,4.5)

3. % {1, 2}

4% {3,4,5,6,7}

Question Number : 4 Question Id : 872834910 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0
Correct Marks : 1 Wrong Marks : 0

The zeroes of the polynomial x* — x* are

L
o
[}

£ B 2 fy e
L AR Pt LA

Options :
L 0,0,

, 2 0 1T
3. % lll

% 0.0,0

Question Number : 5 Question Id : 872834911 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The value of 271 +2724+234+27* is
Srdf27 4272423427

Options :

% 2

el I



15
3 16

10
4. % 16

Question Number : 6 Question Id : 872834912 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The solution for the pair of equations x + 3y = 6 and 2x — 3y = 12 1s
e 2x — 3y = 12.4x + 3y = 62l lsln

Options :

L (0,2)
) (3'_2)
5% (0,—4)

v (6,0)

Question Number : 7 Question Id : 872834913 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
If the roots of the quadratic equation kx(x — 2) + 6 = 0 are equal,
then the value of i ’1s

=
8

S k ’__..-".-\_,',v:j.-L;q_,;;?:_'ka(x — 2) 4+ 6 = U_-.-T!L»*J'-',;‘
Options :
1L« 6

Question Number : 8 Question Id : 872834914 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Among the following, an equation that 1s not quadratic 1s
¢l ks
.;.’_u'::/f- P AP T S S TOVE

Options :
Lx x(2x+3)=x%+1

Lw (x=2)2+1=2x-3

2 - 2
Lo X +3x+1={(x—2)

o (x+1)2=2(x—3)

Question Number : 9 Question Id : 872834915 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

For a circle with center *O’, XY is a tangent at point P. If 2OQP = 40, then the
measure of ZQPY is
SnFed LQPY e ZOQP=40"1 oy P BV BXYLL ‘O L6200

Y Q

Options :

| = 40°
s 50°
3. % 90°

4. % 60°

Question Number : 10 Question Id : 872834916 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time

: 0



Correct Marks : 1 Wrong Marks : 0
If ﬂABCwﬂPQR and ZA = 50°, then the measure of ZQ+ ZR1s

,-'

SvFed £2Q + LRsin ZA =50%4 AABC~APQR./

Options :
0

L % 907
5 % 50°

4w 40°

Question Number : 11 Question Id : 872834917 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0
Among the following, the one that i1s not in Arithmetic Progression is
LLUE'.{JL'E o 2k o 2209 DAL N
Options :

L« 36912,

91419, 24;....

+ ¢ 13715,18,22,

4% 21,17,13,9,

Question Number : 12 Question Id : 872834918 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0

The compound interest on a sum of Rs 2000 for 2 years at the rate of

10% per annum , if the amount is compounded annually 1s (in Rupees)

:.“dl.g.,_:*lvh.:f;'lr.’z Jas s nfﬁ-h-"‘:._,.wédm};,; | U(é%.‘:}"’;-',';-i {V|V::/.72OUO.’= J
Options :

|« 840

L v 420



L x 2420

4 % 4420

Question Number : 13 Question Id : 872834919 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Among the following, the measurements not suitable to construct a triangle are

b

~ g gl o wm Mol gk of ey ™ z
I Uit L APl LI UL s LU0
Options :

| % 8,4,13
, v 84,4

s % 7,6,10

L% 84,3

Question Number : 14 Question Id : 872834920 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The distance of the point (2, 3) from Y-axis is

(Sl kel (2, 3) e Y

Options :

1.5;3“'“!g

2.535

3.9 2

4.% 3

Question Number : 15 Question Id : 872834921 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Among the following, which one has value equal to 1?

S hsh koo Lol o st
. l',"'.-'h:'.'lr-""é._- J-&’J.._; (WET - B

Options :



L sin 60° cos 30° + cos 60°sin 30°

, « €0860°cos30° + sin 60°sin 30°

tan 60°+tan 30°
3 % 1-tan 60° tan 307

4 % Sin60°+ cos30° + cos 60° + sin 30°

Question Number : 16 Question Id : 872834922 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0
If an unbiased dice is thrown once, then the probability of getting a prime
number on its top face 1s

s S | - o - 5 z A T
L',.\_;,'bi*f:‘.-.-.._r.;_,'uw4_.:J&|"f;;..al:_f:cf_lfﬁl'bfl,.‘;',f..gla,gglzfl?;”:.,,,- Skl |
Options :
1

1.V 2
2. %

3.% 6

Question Number : 17 Question Id : 872834923 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

If the surface areas of two spheres are in the ratio of 1 : 4, then the ratio of their
volumes 1s

7 " - y - b w4
5/}’.'.._.-f‘t— B iy s (b 114,._/';5/.,_,':5b FARRINELILE

-
|
[

Options :
 x 1z 38
L w1: 64

3 % 1 % 42



4vo1l: 8

Question Number : 18 Question Id : 872834924 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The median of the observations — 3, =5, —8, 0, 3, 2, —10 1s
Kwe slbs6—3, =5, —8, 0, 3, 2, —10 s

=

Options :

1.$32
2. % 0
3$3—lU

49— 3

Question Number : 19 Question Id : 872834925 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0
If the side of a square 1s increased by 10%, then the percentage of increase
in its area is
Koraddbze 4 L 3,02 102 lblsloy F 0%5"5’5};5;‘ r
Options :
L » 10%

3 % 20 %]

4 % 11[}{1

Question Number : 20 Question Id : 872834926 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0
If the price of a book including 10% GST 1s Rs 880, then the original price of the
book 1s (in Rupees)

o - i & oy - = fo =
vl.-}./: ( u’:;i.—-.‘.-’):-ﬂﬁu I..;I' -:-'l.' Ufl -‘:gfl"—".—-':-:::-—-.'-'880‘GSTﬂ*‘:Ufjul_!“ﬂ:-"fJ'-:-'L'Iru:_’u'.
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Options :

, % 192

4.« 800

Question Number : 21 Question Id : 872834927 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a translucent material

‘-.1.-"" = !f o L-w?
St Sy a0

Options :
Glass Plate

L. |

¥
LoEE
1 @ e W

O1l Paper

i BT

2.4 %

Plastic Plate

o
L

Mirror

- |

4.%

Question Number : 22 Question Id : 872834928 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The instrument which 1s useful to measure the volume of a stone

I i i

TRl L Al A
Options :
measuring Jar

1.« o



graph paper

P Y
2. % - i
barometer

3 ® !._‘-""I‘.'

galvanometer
P i
4. % FLIs

o

Question Number : 23 Question Id : 872834929 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0
Which of the following symbol indicates fuse in an electric circuit

- -

R T ot o e W o= -"j_Jj'_ g i e
a.':;_ 3.7 /flu"’! J‘}:;.';'-o-'-'"/-’r-'; ||..-r"l|-,h: YL

Options :
I
|I
1. ®
2. %
. _K\J_
4' $3 W

Question Number : 24 Question Id : 872834930 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a field force

b a i
]

o e
e e ™

s
Options :
Muscular force

[}

1. % =d O

.t



Frictional force

=
k|

I
¥ i |

w
#
E
(‘"\

Tension force

i

4. % i

Question Number : 25 Question Id : 872834931 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Among the following, Sound can travel through
a). Wood b). Water c¢). Vacuum d). Air

g 'f/l- - & = L- 3
2§ = il e (a LA B

. 7
se(d ®(c &b ¢*(a

Options :

L% a,bc

, % b.c.d
3. o H,b,d

4 % acd

Question Number : 26 Question Id : 872834932 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following letter does not show lateral inversion in a plane mirror
i ’ o I‘J:u[ . [ Wam P &
g uf:{,.’:l\.'-::':l.’-'l;, L rd POk ut 3 2 ol k|

Options :
1. % B

2 v A

3.2 D



4% C

Question Number : 27 Question Id : 872834933 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an acid?

|
0. A& M. [ ez
X - - [ L TR ]
“—'. -~ e et e

Options :
| » CH,COOH

, » NaOH

. » NH,OH

, » KOH

Question Number : 28 Question Id : 872834934 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a chemical displacement reaction
e JUSEALU ALt
Options :
2Mg +0,— 2MgO

1. %

5 % 2Ag Br— 2Ag +Br,
;. % NaOH +Hcl — Nacl+H,0

4 Fe + CuSo, — FeSo, + Cu

Question Number : 29 Question Id : 872834935 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is heterogeneous mixture
y S b
{..;;.__}r?-_ "";‘L;U":U""'I:‘J"
Options :



Salt + water

| % G+ I

Sugar + Water
I‘ ,-\:.'
Ok T 77
Alcohol + Water

= L -
oL+ o2

3 0%
Ol + Water
o L.:‘.L. b ,_j:f

Question Number : 30 Question Id : 872834936 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0
Which of the following is known as liquid gold?
S Ebr DL Ut 5

Options :

Paraffin wax

Diesel
I.J.-
2. % WA
Kerosene
T
3. % C- 24
Petroleum
e
4\? A

Question Number : 31 Question Id : 872834937 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect pair of vitamins and their deficiency diseases

-
S I PN et S > - vy
S AU REN L Ol el L*su..,_,-_l'_ LiGPL



Options :
Biotin — Nervous disorders

# § ; -
pAsoWeFl e

- =

Niacin — glossitis

ko
™ TN
o :b'l.‘-’ l.'._

Pyridoxine — Anemia

o

- LI I30 £AL

Ascorbic acid — Scurvy

™,

” A - e
4% VL - Y

Question Number : 32 Question Id : 872834938 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of these sanctuaries 1s located in Jayashankar Bhupalapalh district?

= = | 5
Oty -.CLJH_E'JL!?J,J:"’ +8

-
x PRI | L- ey
LUI ™ - L'fvl' \_',IJ" bt .'c,;;'}

Options :
Eturunagarmn SEII]CIUHI')f

ool A

o | A

1.v

Kawal sanctuary

:"I.Z:L'c_.._,lf! g

Pakala sanctuary

T L
ol 6L

Kinnerasani sanctuary

i i NE
4 % :{'.'L:_uv_"’

Question Number : 33 Question Id : 872834939 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0



The Human digestive system is incapable of digesting
..“‘_.V':.:{ F”é.-a_../ "“@ ¥ ?u 1, L"L":'l_,l.-r-'
Options :
Lipids
koo
L&
Roughages

H
s

2.9 o
Proteins

il
L

Starch

&A1

Question Number : 34 Question Id : 872834940 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of ovum movement in the female
reproductive tract from the following

-,_.'I?—-" JJJ,.;‘?’-U I"L'-’ G_-V'n r..")l_,-- JU""
Options :

Ovary  —>fallopian tube 2 uterus = cervix = vagina
H:-';} e._,."l - W ek ér‘-’,févﬁu_'_;‘f: edh&,{f

1.v
Ovary = uterus 2 fallopian tube -2 cervix = vagina
2. % AT R

Ovary 2 uterus - cervix—2 fallopian tube -> vagina
:}J}é—.-’ﬁ-u’?-‘:’ eV’J L er‘? ,edf:,_,h:

Ovary = fallopian tube -2 cervix -2 uterus - vagina
I:.'r'fj ériieu'rr!;’_ 6-_.- _?_':lh_',.-::-’!?: edhﬁ%‘f.

4.%



Question Number : 35 Question Id : 872834941 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0
The cells produce antibodies to kill pathogens in our body are

D 0 (M 2 deallE
G AR L S O e dan s
Options :
Lymphocytes

e
L. U

Erythrocytes

2. % s e

Monocytes

3 ® ,._{M P

Thrombocytes

SN Y
433 ‘_,,Lﬂ'}‘./*

Question Number : 36 Question Id : 872834942 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Which of the following animals are not cold blooded?
ufur::{i—'fd«';’,-"’J';Lffﬁfo'!'u.l'. OVE

Options :

Fish

i =

1.% ¥°

Crocodile

L2

=

Dolphin
|
3. &

Frog

4. % —-‘r‘ff



Question Number : 37 Question Id : 872834943 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The number of salivary glands in Human buccal cavity
L,,{?L:f:j.r?él..c'_i:s,i.,_f"bi-._,ﬂ,.:—‘:'.:.,;,'uf

Options :

3 Pairs

4 pairs
5 % J'.".4

2 Pairs
;% %2

5 Pairs
4 % _:!-:5

Question Number : 38 Question Id : 872834944 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Water vascular system also acts as excretory system in animals belong

to phylum

-1 e P it . b g - . T ‘: L +|
= i‘é’ i ,,;J-;-" ;'_,!f‘LJ.-;'.._;ir/ I-‘_,.-'.'.U'u!? il el g_,,-_l'_ Mol S f 51_,:_5
Options :
Mollusca
1. 33 E“IJV‘
Arthropoda
, x  BE
Annelida

3 # I*’:"J..[



Echinodermata

4 v t’:"-‘:;E..}I

Question Number : 39 Question Id : 872834945 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect sentence from the following

- o
o spa® jo o e
/:."' LAy L bigi i) J-". 4

Options :
Electricity 1s also produced from the air and tides of the oceans

i e O o ’ by
LQL?JJEQ'»’."_—J Db ST AN HE S ~

J

The radioactive wastes possess radioactivity for at least one million years

Sy Ly e 5 2 S
< S LU LIRS A2 e

Non-biodegradable waste consists mainly of Human and animal waste

=
-~

S C 126U Aol UL el S s 2 ,_,'f:'il"/i’- vl

Organic carbon 1s converted to carbon dioxide and water, which can cause

atmospheric pollution and acid rain

" vl w0 B e 3 % ] e da L
4% N B W IV 1L STA[S S Y B8 WLV AL S IE ] 1O, (il

Question Number : 40 Question Id : 872834946 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The experiment given in the picture illustrates

=

"

Options :



Release of carbon dioxide during respiration
] -
f s

r AT
1« \_}r.ﬂ?[l";‘;‘l’“" L_,[..\.‘.’ —'-\_;”J} ‘G'.--_-ur-l.”

Release of oxygen dm‘ing respiration

- G 7€ % Wl &
Release of Heat during respiration
3. % :}Ijrléi,:; Ql[x'!:‘:.?:-i;:l—ur-llhf’
Release of oxygen during photosynthesis
4. % LI T mLad 756

Question Number : 41 Question Id : 872834947 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

The Coastal region spread in the State of Goa 1s
o KU IR STt
Options :
Canara Coast

1. % Sk

Utkal Coast
S

Konkan Coast
v fr
e YR

Malabar Coast

SAL

Question Number : 42 Question Id : 872834948 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0



The urban areas having population between One Lakh and Ten Lakhs are

e -~ y £ @ - /__Ivl";,- s
S el S U UL IS 2l o0

Options :
Mega cities
e

Class 1 cities
2. \U"? /.':'f: ].V;Lf

Metropolitan cites

b

:; -.‘M:o'qj"')
3. % s haa -;.,f; =
Towns
g% M

Question Number : 43 Question Id : 872834949 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

If the time at 45° East longitude is 10:00 am, then the time at 30° West longitude is

¢ bﬁ,.,.'_"..i'::-'i,_;.au&flt._,';-bu}/-"’ 300.__.1'V',~.".~'_;E JJLJ.E,,_;HU,-" J;"élﬁo 7
Options :
5:00 am
PAd g
L C =_5:00
3:00 pm
2= 2.
3:00 am
%5 .
. £_3:00
5:00 pm

s % (LE5:00

Question Number : 44 Question Id : 872834950 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0



Correct Marks : 1 Wrong Marks : 0
The layer in the heterosphere is

i
o F .
-l el ,r:f,v,.:u:,:!
p .

Options :
Stratosphere

1. % Vit A
Mesosphere

o ® )éf"lyf
Troposphere

% AP
Thermosphere

b F
4.4 i

Question Number : 45 Question Id : 872834951 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
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These are represented by ‘dark grey’ colour in the Maps
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The Mandal Commission recommended reservation for these people
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Options :
Other backward classes
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This was not a cause of discontent among the people of Telangana before the
formation of the State
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Options :

The Chief Ministers were from Rayalaseema
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Diversion of surplus revenue from Telangana to other regions of the State
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Discrimination in employment in government sector
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Granting of domicile status to coastal Andhra persons working in
Telangana Region
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The king who dissolved parliament and ruled without parliament in England was
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William of Orange
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The foreign traveller who visited Rudramadevi Kingdom was
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Options :
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The Mahajanapada that had republican form of government was
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Options :
Magadha

Gandhara
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Vajji
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The Constituent Assembly adopted the constitution on
ugt POT=SrRprp u"L?’
Options :
26™ November, 1949

o 1949 4,26

26™ January, 1950

L w1950 §.2.26

26" November, 1928
1928 4,26

26™ January, 1949
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This 1s not included in the concurrent list
Options :
Industries
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Factories
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This 1s not a part of the right to equality
e o el 1T
Options :
Abolition of Untouchability
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Abolition of Title
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An Officer who conducts and supervises the election in a constituency is

Options :
Polling Officer
A1y
1% it

Returning Officer

Presiding Officer
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State Chief Election Officer
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The State in which *Silent Valley movement’ started 1s

Options :
Madhya Pradesh
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This does not belong to Community, Social and personal services
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Options :
Defence

Media
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Services of brokers
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The portion of India’s population to whom the National Food Security Act

applies 1s

oLy '....-*;.f;:.i;!l.'.":*'v 40 S T O ey
Options :
34
3
| % =2 Zt
2
/3
2
i -.}"7,
2.9 -



La

gx 2 VA

Question Number : 58 Question Id : 872834964 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0

The investment that 1s spent on the raw material to complete the production
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Options :
Fixed capital

gL &
1.8 V At

Physical capital
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Working capital
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Goods and Services Tax (GST) was introduced in India in the year:
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Options :

v 2017
, % 2016
L % 2018

4. % 2015
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There are no restrictions on the number of times you can deposit and withdraw the
money from the following Account:
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Options :
Fixed deposits
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Basic Saving Bank deposit Account

{7 R N S O o
) % — sl Ty

Recurring Deposit Account
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Current Account
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The most effective method of teaching is
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Options :



Lecture method

i i-n/ 7
1% 265
Demonstration method
i T
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Experimental method
- SV Y
Experiential method
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Teachers relationship with students should be
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Options :
empathetic
1. S5
friendly
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sympathetic
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punitive
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The real goal of education 1s
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Options :



securing diploma or certificate
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mastery of subject matter

acquisition of knowledge, skills and values
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training to make a living
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The source of educational objectives is
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Options :
Educational psychology
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human experiences
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Which of the fDl]DWiII“ 1s not correct
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When you make a mistake in the class, you would

-

Ll gl / i-?jbﬁ“ Sl T
Options :
forget the mistake
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Which of the following is the highest priority to the teacher ?
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Maintain discipline in class
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Conduct examination and give feedback
A i s
2. % Lo Lt e~ = L™

Make students prepare assignments
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Develop the skill of learning how to learn
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A generalized idea suggested to the individual by object, symbol or situation
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Concept
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Generalization
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theory
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Short term targets which are specific in nature and achieved in a few hours or days 1s

Options :
goals
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objectives
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What is more important while writing on a blackboard
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Options :
neat writing
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legible writing
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writing in big letters
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Why have you chosen teaching profession?
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Options :
It has less responsibility
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You have interest in teaching
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The important quality of a good teacher 1s
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good communication skills
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To develop cooperation and team spirit among students

which activity do you propose
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Debate
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Verbal guidance is not so effective in learning of
- - - - P .
S 2l il e L 2
Options :
aptitude
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attitude
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Important quality in a student is
e A
Options :
hardworking nature
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In 21st century, education focuses on development of
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social learning
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socio-emotional learning
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Broadly education means development of
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Options :
human intelligence
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The purpose of co-curricular activities 1s to
e S P Y
Options :

facilitate students development
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keep students from dropping out
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meet the demands of community
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The effectiveness of learning depends upon
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effective curriculum
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effective methods of teaching
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The full form of NEP 2020 is
< FF SNEP 2020
Options :

. « National Education Programme 2020

, « National Education Policy 2020
;. » New Education Policy 2020

, » Nation Education Programme 2020



General English

Section Id : 87283433
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
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Section Marks : 20
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Question Id : 872834987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Question Numbers : (81 to 85)
Read the passage carefully and answer the questions that follow:

The basic principle of Federalism is that the Legislative and Executive authority
1s partitioned between the Centre and the States not by any law to be made by the
Centre but by the Constitution itself. This is what Constitution does. The States under
our Constitution are in no way dependent upon the Centre for their legislative or
executive authority. The Centre and the States are co-equal in this matter. It is difficult
to see how such a Constitution can be called centralism. It may be that the
Constitution assigns to the Centre too large a field for the operation of its legislative
and executive authority than is to be found in any other federal Constitution. It may be
that the residuary powers are given to the

Centre and not to the States. But these features do not form the essence of
federalism. The chief mark of federalism as I said lies in the partition of the legislative
and executive authority between the Centre and the Units by the Constitution. This 1s
the principle embodied in our Constitution. There can be no mistake about it. It is,
therefore, wrong to say that the States have been placed under the Centre. The Centre

cannot by its own will alter the boundary of that partition. Nor can the Judiciary.



Sub questions

Question Number : 81 Question Id : 872834988 Question Type : MCQ Option Shuffling : Yes Display Question Number
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The passage i1s mainly about

Options :

. » The function of the Constitution

, % Division of powers
3 % Centre-State relations

4« The spirit of Federalism

Question Number : 82 Question Id : 872834989 Question Type : MCQ Option Shuffling : Yes Display Question Number
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According to the passage. which of the following statements is true?
Options :

. » The Constitution gives more powers to the States.
, «» The Constitution gives more powers to the Centre.

3 % Neither the States nor the Centre has any powers.

v Both the Centre and the States have equal powers.
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According to the passage, which of the following statements 1s NOT true?
Options :

. = The division of powers is an inbuilt feature of the Constitution.

2. %
Our Constitution gives the Centre more powers than any other Federal Constitution.

, » The division of powers can be altered by the Centre and the Courts.



L% The Centre and the States are autonomous in their respective spheres.

Question Number : 84 Question Id : 872834991 Question Type : MCQ Option Shuffling : Yes Display Question Number
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According to the passage, the basic principle of Federalism 1s

Options :

| = Separation of powers between the Legislature, the Executive, and the Judiciary.

,  Division of legislative and executive powers between the Centre and the States.
; » Cordial relations between the Centre and the States.

e Mutual dependence of the Centre and the States.
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The word ‘residuary’ in the passage means
Options :

| » Excessive

, » Equal

, » Permanent

4 » Remaining

Sub-Section Number : 2
Sub-Section Id : 87283440
Question Shuffling Allowed : Yes
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Identify the word with the correct spelling.

Options :

| % Achieve

, % Concieve



5 « Perceive

, = Hygeine
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Identify the word with the incorrect spelling.

Options :

. = Courageous

, «» Necessary

;5 = Characteristic

4 = Adolescence
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The homemade cake was :

Fill in the blank with the appropriate word.
Options :

Delectable

l.¢

, » Combative
5 % Avuncular

4 % Iridescent
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The woman was old and very weak.

Choose the appropriate synonym of the underlined word.
Options :

. » Complicit



, = Active
3 Frail

4 » Robust
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: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0
Correct Marks : 1 Wrong Marks : 0

His silence shows his tacit support.

Choose the appropriate antonym of the underlined word.
Options :
. = Implicit

, « Explicit

- Complaint

4 % Appropriate

Question Number : 91 Question Id : 872834998 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

To show someone the ropes is to

Options :

| Teach someone how to escape

, » Put pressure on someone
, = Influence someone

4 v Show someone how to do a work

Question Number : 92 Question Id : 872834999 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time
:0

Correct Marks : 1 Wrong Marks : 0

A group of eagles is called a

Options :



. = Constellation
, » Convocation

3 » Parliament

, » Colony

Question Number : 93 Question Id : 8728341000 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Instead of some good music, it was a pretty bad film.
Replace the underlined phrase with an appropriate one.
Options :

= In addition to

» % On the whole

;  In spite of

4 % According to

Question Number : 94 Question Id : 8728341001 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[rresponsible statements always strong reactions.
Fill in the blank with the appropriate phrasal verb.
Options :

| » Bring down
» « Bring forth
, % Bring off

, » Bring forward

Question Number : 95 Question Id : 8728341002 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Hundred rupees are not a lot of money these days.
[dentify the part of the sentence with an error.
Options :

. » Hundred rupees

,  are
5 = alot of

L% these days

Question Number : 96 Question Id : 8728341003 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The film, including the story and the songs. were boring.
Identify the part of the sentence with an error.
Options :

. % The film
, « thestory

, « thesongs

4 » Were boring

Question Number : 97 Question Id : 8728341004 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Identify the correct sentence.

Options :

. » The English news are at nine in the morning.

- Mathematics are my favourite subject.

- My pair of jeans needs no ironing.

. = Each of us have work experience.



Question Number : 98 Question Id : 8728341005 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect sentence.
Options :

. = He neither sings nor dances.

, % He either comes or calls.
, » He will have either tea or coffee.

4« He will neither comes late nor leaves early.

Question Number : 99 Question Id : 8728341006 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate connective.
He had the map. he lost his way.

Options :
|« Although

» % Whereas

3 % S0

4 v Yet

Question Number : 100 Question Id : 8728341007 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The word ‘bookie’ 1s associated with
Options :

| « Publishing

, = Libraries
» Betting

3

, = Binding



General Knowledge and Educational Issues

Section Id : 87283434
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283441
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8728341008 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the theme of “World Environment Day’ for the year 20227
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P Lonog iy Ho |
S vk ‘el L2022 Ji-

Options :
Ecosystem Restoration
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L [ L
Chit U:I"_’J o~

Only One Earth
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|._".---o_'—-r{_-r'lln.---el_,""lT

Global Pollution
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3 % o1k

Time for Nature
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4 % — e e e

Question Number : 102 Question Id : 8728341009 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who is the Present Cabinet Minister of the Ministry of Education in India?
?us-;.}"f{}»‘d:? {if‘?:-:.-;f}:r:ﬁ}’u’:du-:k
Options :
Shri Ramesh Pokhriyal
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Shrimati Nirmala Sitharaman
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Shri Dharmendra Pradhan
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Shri Rajnath Sing

£ o wow
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Question Number : 103 Question Id : 8728341010 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Name the person who is a 125-year old yoga practitioner serving leprosy-
affected people for about 50 years and won Padma Shri in 2022
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Options :
Tulshi Gowda
i ol
1. % Ly

Avam Lekhara
2. % [JL:ﬁUdll:f
Swami Sivananda

3¢ Lyl

Devendra Jhajharia

4 % LS ey



Question Number : 104 Question Id : 8728341011 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which 1s the host city of Commonwealth Games 20227

{"'"/.‘-'l{"l'f".‘:’lj‘a'th ur: ": t.v'fJ s 2022\.:'#{ 12;‘{'. -'\.'r'f 1

Options :
Rio de Janeiro

L
L% L 554

Birmingham

.
P
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2.

Mumbai

“i";
3. % .

Melbourne

Question Number : 105 Question Id : 8728341012 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the name of the initiative of the Government of India to celebrate and
commemorate 75 years of independence ?

F e o e 4 e o y # E| e il
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Options :

Unnat Bharat Abhiyan
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POSHAN
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Pragyata



Azadi Ka Amrit Mahotsav

Question Number : 106 Question Id : 8728341013 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which state in India has the highest number of Geographical indication
tags in India ?
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Options :

Tamil Nadu

L% skt

Karnataka

ets

Telangana
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West Bengal
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Question Number : 107 Question Id : 8728341014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many countries are there in the world?

o i i ke

S 2 L,,--.gfl_._-' 3
Options :
, % 183

5 % 200



Question Number : 108 Question Id : 8728341015 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What was India’s rank in the Global Hunger Index 2021, out of 116 countries?

e ¥ # F '/L. = 4
S b A I 1160420217 ke )b
Options :

2. ® 88
5 % 04

4 v 101

Question Number : 109 Question Id : 8728341016 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What was the theme of India Pavilion at COP-25 at Madrid. Spain in the year 2019?

B2 ECOP-25L o s 1 o5 165050 220190
Options :
150 years of the Mahatma

v J150L 0y

Enabling the Revolution
) @ L.t'..vt\?;-:-'.arl
Rural India

kil ot
T

India and a Better New World
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Question Number : 110 Question Id : 8728341017 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which community radio station inaugurated by PM Modi in April, 2022 was
dedicated to animal husbandry?
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Options :
Gomata Vani
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Gaushala Vam
2. % s 5

Banas Adi Katha
.--l/ # -
3 v oAk

Dudh Vam

b
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Question Number : 111 Question Id : 8728341018 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many places in India have been inscribed in the World Heritage Sites list?

I
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Options :
2. #® 50
3. ¢ 40
4. ® 51

Question Number : 112 Question Id : 8728341019 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the point of view of population control through family planning there should be

.f_u»L,.-a_,,% Bl RAPAL ‘J...II} £



Options :
More literacy of males than females
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More literacy of women than men
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Eradication of illiteracy of the old men
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Emphasis on expansion of education
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Question Number : 113 Question Id : 8728341020 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Chipko movement was first led by

P

e
Seibie ~SLFF
Options :
Sunderlal Bahuguna

1. ¢ Lt

Rajiv Gandhi

Ramdev Mishra
3 % L gt

Indira Gandhi
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4 % o ,b'..(lg',bl

Question Number : 114 Question Id : 8728341021 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Maximum air pollution is caused by
A P g 1| BT ?f_::‘L'}

Options :
Smoke
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Insecticides
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Industries
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automobile exhaust
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Question Number : 115 Question Id : 8728341022 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It 1s believed that the thinning of the ozone layer 1s the result of chlorofluorocarbons.
These gases have been used in:
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Options :
Electric heaters and clothes driers

T ~
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1.
Spray cans and refrigerators
2. pER AT S s

Cigarette lighters and air-conditioners

2 #
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Washing machines and wet grinders
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Question Number : 116 Question Id : 8728341023 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The winner of the 2021 UNESCO’s King Hamad Bin Isa Al-Khalifa Prize for

the use of Information and Communication Technologies (ICTs) in Education is ...

- il - S . . & ~ »
L 2L L G S b 2 7, "/J"‘ oty 2021 A1 8157 i L
Options :

IIT, De]h]

NIT, Warangal
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NIEPA. Delhi

Question Number : 117 Question Id : 8728341024 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Five Foundation Pillars of NEP 2020 are

s Sk L NEP 2020
Options :
Affordability, Accessibility, Accountability, Equa]itv and Quality
Harslo alacl JI ” L,Lf;._, I.’5" hE
Affordability, Accessibility, Equity, Equality and Qualiry

b
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Affordability, Accessibility, Accountability, Equitv and Qualitv

3 ,,L.x* 1|\__.-|ﬂ’4___.‘..--"'"| Fd 4|._,LF,- \5‘ \-Fll_.}”

Affordability, Accessibility, Accountability, Quantity and Quality
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Question Number : 118 Question Id : 8728341025 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
NEP 2020 focuses on promoting “Experiential learning™ in all stages.
It will be adopted except tor one of the following.
L Liitre oS qeat/if p 23 s LY 7o g pWNEP 2020
Options :

hands-on learning

story-telling-based pedagogy

2 % .'='/.-:-5| U:’:.z_'_:'h_— L:"'L,;L‘I
scriptures — based pedagogy
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sports and arts-integrated education
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Question Number : 119 Question Id : 8728341026 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many channels are there in SWEi}-”ii‘I’l Prabha?
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Options :

5 v 34

4. % 42

Question Number : 120 Question Id : 8728341027 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following 1s the scheme which the Ministry of Education has
launched a mega online challenge to test the abilily of students to innovate?

g .Juf "J?od_-:‘.”g:‘ur‘_lulrié:—é ,_:I.'\_,a"f»l"; VLbu_— = ._..-,-f‘_-"/:-“‘.d|vu UF N2
Options :
. » SPARSH
, « SAMMAN
s » SANYUKT

4. v SAMADHAN

Question Number : 121 Question Id : 8728341028 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the full form of MOOC ?

fe | FF ~MOOC‘

Options :

. » Massive Open Objective Course
, « Massive Online Open Course

s « Massive Open Online Course

4 » Massive Open Online Content

Question Number : 122 Question Id : 8728341029 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SWAYAM is initiated by Government of India with the objectives to ...
U 22 L 1/ SWAYAM e bl oross®
i)  Provide quality materials with nominal cost
L';@g’ {,.‘*.ag iy :'1‘3 IS s
ii)  Ensure best quality content 1s produced and delivered
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iii)  Assess students continuously and grant degrees
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iv) Accessed by anyone, anywhere at anytime
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Options :
w11, 11 and v

) % 1, 11 and 1m
;% 1, 1t and 1v
4oL 11 and 1v

Question Number : 123 Question Id : 8728341030 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Till which year Rashtriya Uchchatar Shiksha Abhiyan (RUSA) has been
approved for the continuation?
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Question Number : 124 Question Id : 8728341031 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of these is not a qualifier for the EWS quota?

Options :
Less than 5 acres of land

R = G
Annual income less than 1upees 8 lakh a year

2. F »’._-—.'.f' ISL,.AIF-'”LF

Residential home smaller than 1,000 sq. ft
F et 21000065 b

3%
OBC, SC. ST Caste certificate
L 28 6=1300BC, SC, ST

Question Number : 125 Question Id : 8728341032 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A student pursuing a Masters Course in Science (M.Sc.) has chosen a course in
Buddhism from Philosophy Department under CBCS. Which course does Buddhism
represent?’
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Options :
Core
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Ability Enhancement
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Elective
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Question Number : 126 Question Id : 8728341033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who 1s a child as per POCSO act?
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Options :
Anyone below 18 years of a
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Anyone below 16 years of age
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Anyone below 14 years of age
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Anyone below 10 years of age
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Question Number : 127 Question Id : 8728341034 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under which Ministry the Scholarship for PMCARES
Children’ scheme was launched?
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Options :
Ministry of Women and Children
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Ministry of Social Justice and Empowerment
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Ministry of Law and Justice
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Ministry of Home Affairs
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Question Number : 128 Question Id : 8728341035 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sr1 Kaloj1 Narayana Rao University of Health SC]E[]LL‘: 1s located in the district of
[ 1:5-[ .JXJ"’ o e
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Options :

Hyderabad
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Warangal

Mahbubnagar
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Nizamabad
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Question Number : 129 Question Id : 8728341036 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following scheme provides Education to Girls and their welfare
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Options :
UITWALA
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One Stop Centre Scheme
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SWADHAR Scheme
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Question Number : 130 Question Id : 8728341037 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Full form of PARAKH:
F S UPARAKH
Options :
Performance Assessment, Review, and Analysis of
. » Knowledge for Holistic Deployment

Performance Assessment, Review, and Analysis of
, » Knowledge for Highest Development

Performance Assessment, Review, and Analysis of
; » Knowledge for Holistic Development

Performance Assessment, Relation, and Analysis of
4 % Knowledge for Holistic Development

Computer Awareness

Section Id : 87283435
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283442
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 8728341038 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following are the components of Central Processing Unit (CPU)

Options :

21 (CPU }...—;_.....;f—' l,.;,_,l AL



Arithmetic logic unit, Mouse

- Jibeti gyl
Arithmetic logic unit, Control unit

- IO PO g
Arithmetic logic unit, Integrated Circuits
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Control Unit, Monitor
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Question Number : 132 Question Id : 8728341039 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What kind of data 1s processed by an analog computer?
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Options :

Discrete Data

e

Intermittent Data
5 % iL e =

Discretely varying Data
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Continuously varying Data
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Question Number : 133 Question Id : 8728341040 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which level language is Assembly Language?

Options :



high-level programming language
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medium-level programming language
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low-level programming language
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machine language
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Question Number : 134 Question Id : 8728341041 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is full form of GUI related to computers?
(i 3-253._}";,}’6 Ul Lip L2 ! :

Options : .

. = Graphical user Instrument

, » Graphical unified Interface

;3 % Graphical unified Instrument

4« Graphical user Interface

Question Number : 135 Question Id : 8728341042 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Verification is process of
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Options :
Access
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Login
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Logout
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Authentication
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Question Number : 136 Question Id : 8728341043 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB is which type of storage device ?
S F1y3E K “USB
Options :
Primary

1% s I-{.

Secondary

2. ¢ e

Tertiary
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Auxiliary
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Question Number : 137 Question Id : 8728341044 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange in decreasing units of memory sizes — TB, GB, PB, MB.
The correct order 1s-
Borr G = -_.J._,fh:’ét_}w._,; /TB. GB, PB, MB7L- L.+
Options :

, = GB>PB>TB>MB
, « PB>TB>MB>GB

. » PB>TB>GB> MB



4 » 1B>PB>GB>MB

Question Number : 138 Question Id : 8728341045 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following list shows memory types from highest to
lowest access speed?
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Options :
Secondary storage, main memory, cache, registers
P ” = " =
| % Jl)f"?,-fi__fffu,-)’fv'::ogy’lv,.hk

Registers, cache, secondary storage, main memory
i Sl NS 2K 7
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Registers, cache, main memory, secondary storage
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\_,.-r.a V"‘ -_—- A A
3.

Cache, registers, main memory, secondary storage
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Question Number : 139 Question Id : 8728341046 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ONE Mega Byte 1s equal to
RN P

Options :
1024 Bytes
L% 11024

1024 Kilo Bytes
s v L1024

1024 Giga Bits
;% L1024



1024 Bits

Lx 021024

Question Number : 140 Question Id : 8728341047 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which device among following is used for sending digital data over a
phone line ?
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Options :

USB

Modem
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Question Number : 141 Question Id : 8728341048 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Microsoft office is type of ?

™ * -
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Se U T
Options :
System software

R
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Application software
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Utility Software
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Firmware
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Question Number : 142 Question Id : 8728341049 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which type of switching is used in Internet ?

'. i ey B2 :.-‘:‘ O
_ﬂ-uf"-vl“ W2 U e

Options :
Packet
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Telephone

Question Number : 143 Question Id : 8728341050 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which is responsible for communication between Memory and ALU ?

i Reomesd 2t »
S ilsar 3 7 (S o ._-,"’..,J‘J:LJJL"LL[_.TAIJJ:*_

Options :
Keyboard

RAM

) % |{,-_'__I_,-f

Control Unit
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USB
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Question Number : 144 Question Id : 8728341051 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The contents of are lost when the computer turns off.
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Options :
storage

Sk
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input
2. % =]

output
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volatile memory
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Question Number : 145 Question Id : 8728341052 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of hardware?
c:_ulL"'f,_: ) ?J:E_;_,'.'.'U:’: o
Options :
Assembler

] b4 _,’J'.'j_|
Server
2.4 S

Compiler
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Interpreter
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Question Number : 146 Question Id : 8728341053 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A device that i1s connected to the motherboard 1s called

llifesidias l‘;l.:f.?::
Options :
an external device

L% SIS A~

an adjunct device
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peripheral device
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a ribbon cable

Question Number : 147 Question Id : 8728341054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What do you call a computer on a network that requests files from
another computer?
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Options :
a chient

a host
2.8 e

a router

3. % vy



a web master
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Question Number : 148 Question Id : 8728341055 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following best describes the WAN

LL/ _.~ *“""}7\—' ‘,!'.{( \'VAN\_,-J il ‘\_{;
Options :

Connects LANs that are separated by a large geographic area
1.« V}Lr::fc:.tﬁ'gdg;[_r"?;.i; ...J:I _,fi*‘.’_LI:‘J.*‘.’:/L-ANS

Connects workstations, terminals. and other devices in a
metropolitan area
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Connects LANs within a large building
I - T -~
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Connects workstations, terminah and other devices within a building
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Question Number : 149 Question Id : 8728341056 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What's a web browser?

-

Sl
Options :
A kind of spider

-

. % ey

A computer that stores WWW files
v 5 X S WWW 2 “*-"_Lf

2. %

A person who likes to ]ook at websites
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A software program that allows you to access sites on the World Wide Web
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Question Number : 150 Question Id : 8728341057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The outcome of system analysis says that a suitable model is to be sugeested
when the changes requested by the customer need to be quickly incorporated
into the system. Which model of development 1s most suitable:
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Options :
Watertall model

1. % JAJ6As

Spiral model

2. % S

Agile model
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Evolutionary enhancement model
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